MANCHESTER, TIN

S NE

01 OUTSIDE AND INSIDE 9:08
02 ROLLOVER> 1116

03 CAN'T STOP NOW 5:30

04 YO SE’ 8:58
05 SOMETIMES A RIVER 8:07
06 RAIN 9:32

DISC T"WO
01 GROUP HOOT 0:49
02 JELLYFISH> 14:54

03 JUST ONE STORY 15:49
SET TWO

04 HOWARD:> 9:11

05 STAYIN’ ALIVE*> 3:54
06 BEST FEELING* 11:07
07 PACKIT UP 11:32

DISC THRER
01 LOVE IS LIKE A TRAIN 4:35
02 LITTLE HANDS> 10:04

03 BUMPIN' REEL> 11:32

04 DRUMS> 7:18

05 HOWARD 5:04

06 SEARCH 10:08

ENCORE

07 FARTHER 813

08 WAY BACK HOME 10:43

INAAIONI ASHIHD ONIYLS dHL

*featuring Keller Williams on guitar and vocals

MANCHESTER, TIN

DISC ONE

SET ONE

01 OUTSIDE AND INSIDE 9:08
02 ROLLOVER> 1116

03 CAN'T STOP NOW 5:30

04 YO SE’ 8:58

05 SOMETIMES A RIVER 8:07
06 RAIN 9:32

DISC T"WO
01 GROUP HOOT 0:49
02 JELLYFISH> 14:54

03 JUST ONE STORY 15:49
SET TWO

04 HOWARD> ot

05 STAYIN’ ALIVE*> 3:54
06 BEST FEELING* 11:07
07 PACK IT UP 11:32

DISC THRERK
01 LOVE IS LIKE A TRAIN 4:35
02 LITTLE HANDS> 10:04

03 BUMPIN' REEL> 11:32

04 DRUMS> 718

05 HOWARD 5:04

06 SEARCH 10:08

ENCORE

07 FARTHER 813

08 WAY BACK HOME 10:43

INAAIONI HSHAHO DNIYLS dHL

*featuring Keller Williams on guitar and vocals
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results), and you MUST make sure that the PAGE SCALING option is set to “NONE”. If you have PAGE SCALING set to “Fit To Printer Margins” or “Reduce to Printer Margins”, the graphics will not print at the correct size

for the standard jewel case. This is the most common problem people have when they complain about the artwork not fitting the jewel case! You can order Neato Labels from www.neato.com!
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